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Notes: Solving Multi-Step Inequalities U4-3 NOTES-'

Solve each two-step Inequality.

1) -9x-8>28 2) 12-3x<9 3) §+529
4) -4 2 4(x+2) 5.) -%4-429 6.) —15+§s~12

Identify the accurate simplified ineguality.

|7. -6723n-16 8. -4n-7>-19

' A nh>-17 A n>3
B. n<-17 B. n<3
C. h=>17 C. n>-3
D. n<17 D. n<-3

Solve each inequality. Match it to the appropriate graph in the final column.

9. -4+_;.> o3 10. -1+4x<23

B. g 5 % 7 8 I
11, 49 <-5+6x 12, -3n-3>9
g — 3
C -7 -6 -5 4 -3 22
D. “:—f:; 7 8§ 0 1:0 1 t:z 1:3 [:4_}

Al K4



Kuta Software - Infinite Algebra 1

Two-Step Inequalities

Solve each inequality and graph its solution.

1) 2x +4 224

ol .

T

3 4 5 6 7 8 9 10 11 12 13

Y

5 -b-2>8
4—[2 : —1:.0 . jg -6 -4 —:2_\-
7) 4+§<6

Y

ek L 3 L I .
2 T T

2 3 4 5 6 7 8 9 10 11 12

11) -11x —4>-15

. N
<

3 -2 -1 0 1 2 3 4 5 6 7

Name

Date Period 7

p) A P

3
DR P P PR S 4
4) —4(—4 +x) > 56
TR T T A
6) —4(3 +n)>-32
N EREREREERE
8) -3(r—4)20
R N I
10) -3(p-7)221
EEEEE TR RS

-9+a
12) > 1

15

TR N



Multi-Step Inequalities U4-4
Two Step, Distribute, Combine Like Terms, Variables on both sides. NOTES

“Solve each ineguality.

L)  -2x-10-4x>50 [2) 3(4-x)<9 3) 3+§+529
4) -4 > 4(-2x + 3) 5.) % +10>2-8 6.) -4c-15+6¢c <-29
|
Identify the accurate simplified inequality.
7. 3(2n-4)26 8. -6-12>18+3n
A . n>3 A n>-12
B. n<-1 B. h<-12
C. n>1 . n>0
D. n<3 D. n<O

Solve each inequality. Match it to the appropriate graph in the final column.

9. -24+ 3£> 12 10. -12+-4x<10+14

11, 49<-15+6x+10 12. 14n-3-17n>9
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Infinite Algebra 1
Multi-Step Inequalities

Solve each inequality and graph its solution.

1) 3<-5n+2n

1 5 5 L 1
s e T T Y T 5

-8-7-54473"2-10 12

5)92-2m+2-3

< 4 + ' 5 3 L
<5—- T T Y T

—9—8—7—6—5—4—34710

Y

7) 6 —4(6n+7)>122

Y

14 -12 -0 -8 -6 i

9) 167<6+7(2-7r)

Fa-
T

-7-6—5—4—3—2—10 1 2 3

11) —8x+2x—-16<-5x+7x

=

L

—7—6—5—4—3—2—-10123

Name

Date

2) 6x+2 +6x < 14

- 1
<—+ T

—6—5—4—372-1012.

4) 18 25k + 4k

T

—4—3——2—10;23.4

6) -3 —6(4x + 6) > -111

Y

Y

<T

—4—3—2—101£34

8) —138>—6(6b —7)

345&7851011

12) -1 -6x—-6>-11-7x

-3—7-6—54—3—2-;0

1

Period

&/

HA



Infinite Algebra 1

Multi-Step Inequalities

Solve each inequality and graph its solution.

1) 3<-5n+2n

EEE PP EE R
3) ~p—4p>-10

NN EEEE TR
5) 9>-2m+2-3
J_L;—S—T—S—S%—SH:Z—:I 0 ]:>
7) 6 —4(6n+7)>122

R T P Bt s -
9) 167<6+7(2-7r)
L;;_s_s_a:—amz-l o 1 2 ;7

11) 8x+2x—16< —S5x+Tx

-

L
>

S o i

—3 ~2 —-l 0

1

2

3

Name

Date

2) 6x+2+6x<14

ok

T

~6—5—4ﬁ3——2—10I2

4) 18 > 5k + 4k
P ET YA EE R
6) =3 —6(4x+6)>-111
EEEEE R R
8) 138 >—6(6b ~7)
RS
10) 5(6 +37)+ 72127
1_;2;15:67891:01:5_}
12) =1 -6x-6>-11-7x
Ljﬁ-?—6~5—4—-3~:2—:10; [' Z.Y;

Period



21
SR PR PR i " s
—11+n
15) ———< -1
15

—-9—8-—‘.’-—6—5-:4-:3—'2—'1(l)1l

17) 4<1+2
7

OV T | s
=

Y

F.

18 19 20 21 22 23 24 25 26 27 28

19) 7n—1>—169

- L I e
<t T T T T

>

P

26 —24 —22 =20 -18 -16

21) 84>-7(v-9)

ik 1 L L
T

L I bl
T

£ 7 6 5 4 3 2 -1 0 1 2

23y L g2 1o
6

ool L L I . 3 >
T T T T

22 23 24 25 5‘_.6 2:I 2'8 2I9 3r0 3-l 312

14) -132 > 12(n +9)

—

L L
< T T L

-22 =20 -18 -16 -14

Y

16) —90 > —5(k—3)

13 14 15 16 17 18 19 20 21 22 23

12 +
fif ool
‘L—éﬂ G -J;E mi6 f;4 -12 —10>
20) —4b—5>-25
YRR EE RN
-8+
22) >-8
2
VR P P S g
-3
WMy el ¥

5 6 7 8 9 10 11 12 13 14 15



Name:

Date:

Inequalities Word Problems

‘ U4-6 NOTES

Define a variable (V), write an ineguality (I), solve (S) the Inequality, and graph the solution set

L. The perimeter of the Jacob's square backyard is no
more than 72 meters, What is the solution set for the
length that his backyard can be?

I'H

I

2. To get an A, you need more than 200 points on a
two-part test. You score 109 points on the first part.
What solution set represents how many more points
you need?

v

T:

3. Marcus wants to buy 4 baseballs. He has $68,
What solution set represents what each baseball can
cost?

i

I

4. 3 times a number, plus 5, is af most -28, What
solution set represents what the number can be?

1'%

I

5. -4 times a number, minus 6, is af least 22, What
solution set represents what the number can be?

6. You buy want to buy several candy bars for $2 each
and one newspaper for $3. What solution set would
represent the number of candy bars can yoy buy if you

' only have $19?
v
I
I
H S
Attt et
7. A telephone company charges a $27 monthly
service, plus $2 for each long-distance call that you V:
make. If you budget $65 for your telephone bill each
month, what solution set represents how many long L
distance phone calls you can make during the month
| without going over your budget? 5:
et

A
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